BFRF (77723232 )
Support Unit BF (Supported-side rectangular type)

ETRR R

Ordar Coding

BF10_C7 - C7 80822

BF10_C3 i C3C5 60827
BF10

BF10_C7N o C7 §08DD

BF10_CaN SediamMomieie | cacs 608DD

BF12_C7 . C7 60002Z

BF12 C3 kil Cacs 80002Z
BF12

BF12 C7N o C7 §000DDU

BF1Z_CaN SeoenNaelPd | cacs | 6000DDU

BF15_C7 - C7 600277

BF15_C3 Binck Oeddo C3cs 8002ZZ
BF15

BF15_C7N P C7 6002DDU

BF15_C3N SectmieseNekal Py | ©305 | 8002DDU

BF17_C7 o C7 620327

BF17_C3 natia C3 G5 62032Z
BF17

BF17_C7N - c7 6203DDU

Bactmiexy Mickel Piating
BF17_C3N C3C5 | 6203DDU
- 5k (EAREK : —)

BF20 C7 pm C7 600477 Black Oxide {Application : General case]

BF20_C3 e C3C5 | 60MMZZ
BF20

BF20_C7N (o c7 6004DDU

BF20_C3N SwimexNasfee | c305 | 8004DDU

BF25_C7 b C7 620522

BF25 C3 e C3C5 620527
BF25

BF25_C7N o C7 6205DDU

BF25_C3N SecmimmidasPare | cacs | 6205D0U

BF30_C7 - C7 62062Z

BF30 C3 FRERE Cacs 620627
BF30

BF30_C7N - C7 §208DDU

BF30_CaN SeivmmNosee | cacs | §206DDU

BF35_C7 e C7 620722

BF35 C3 Ftack Cadde C3cs 620722
BFa5

BF35_C7N o C7 6207DDU

BF35_C3N HemeeNdalPe | cacs | e207DDU

BF40_C7 wm C7 620877

BF40_C3 T C3C5 | 6208ZZ
BF40

BR4Q.CTN {Ema L4 | 6208Dbd {Lin (AR : WE)

BF40_C3N Elgstcises Nckal Frtng 0305 8208DDU Elociroless Nickel Plafing {Application : Cean reom)

R (Note)

1. R 0o 2 W A Wi

{It Is usad double prassed steal cagas for Black Oxida typa aupport unlis )

2. (L {ER 2 MRS

{Itis used double plastic cages for Electroless Nickel Plating type support units .)

3. MR EFERA B AR AR

{All of bearings uae .Japan's brand bearngs.)

L
v
Tl
e
o2
JF
T
a
=
L]
=
L,
L
o
=
=
=,
i
o
"N
‘©
L
L®,
L®,
L+
=
D
o 1
o
£
44
®
2L
o
- |
(0
=
2
—
<
L
2




( Rz

; {'_It BF
-side rectangular type)

vy,
3
&
St
S
%
i

=
i
| =

L

L

O

=
=
3,
s
- -
m
B
L=

L,
L
O
am &
B
0
@,
(3
Ly
%
ﬂ
O
—
0
c
2
—
4
L*
e

HMHnudng
2 K.~ Bearing 18.71 sst
3 CEHIRSnap ring 1
2-XrErer iR
2-X dril @Y counter bora doepth Z
\ . B1 - %
4-{3d2
| 4 |\ | ' | \i ‘
BE u ] 1A f
i j('}:' /CN I { i f; 8] y
| | | | =
| £ mL- \y 1 f o1
ot 9 il | a i 2
il b BT
- = - ot
B L
B, /Unit: mm

T ERCEAE
Model No. d“&'_l""' Beanng Snap ring

BF10 20 60 34 325 46 55 66 108 5 S 08
‘BF12‘1U‘2U‘ED‘43 3{}‘25‘34‘32.5‘13‘46‘5.5‘6.6‘10.8‘1.5‘600022‘ S 10
BF15 15 20 70 48 35 28 40 38 18 54 55 66 11 65 80022Z S15
BF17 17 23 8 &4 43 39 50 55 28 68 66 9 14 85 62032Z S17
BF20 20 26 88 60 44 34 52 50 22 70 66 9 14 85 60042Z  S20
BF25 25 130 106 80 53 48 64 70 33 8 9 11 175 11 620522 S25
BF30 30 32 128 89 64 51 76 78 33 102 11 14 20 13 620622  S30
BF35 35 32 140 9 70 52 88 79 35 114 11 14 20 13 620722 S35
BF40 40 37 160 110 80 60 100 60 37 14 18 6208ZZ S 40

130

26 17.5






